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�!ÀJK£�K�4�K§z�K4©§÷©16©. 3z�K�Ñ�o�À�¥§
�k��´ÎÜK8�¦�"�¦r�YW3�K�þ¤

1. rx −→ 0+ ��Ã¡�þ α =
∫ x
0 cos t2dt, β =

∫ x2

0 tan
√

tdt, γ =
∫√x
0 sin t3dt ü�

å5§ ¦ü3�¡�´c���p�Ã¡�§K�(�ü�gS´
£A¤α, β, γ; £B¤α, γ, β; £C¤β, α, γ; £D¤β, γ, α

2. �¼êf(x) ëY§�f ′(0) > 0§ K�3δ > 0§ ¦�
£A¤f(x) 3(0, δ) SüNO\;

£B¤f(x) 3(−δ, 0) SüN~�;

£C¤ é?¿�x ∈ (0, δ)§ kf(x) > f(0) ;

£D¤ é?¿�x ∈ (−δ, 0)§ kf(x) > f(0)

3. �{an} , {bn}, {cn}þ�¢ê�§�limn→∞ an = 0, limn→∞ bn = 1, limn→∞ cn = ∞,

K7 k
£A¤ an < bné?¿n ¤á;

£B¤bn < cn é?¿n ¤á;

£C¤ {ancn}�3k��4�;

£D¤{bncn} Ø�3k��4�

4.���¼êf(x, y) 3:(x0, y0) ��4��§Ke�(Ø�(�´
(A) f(x0, y)3y = y0 ?��ê�u";

(B) f(x0, y)3y = y0?��ê�u";

(C) f(x0, y)3y = y0?��ê�u";

(D) f(x0, y)3y = y0 ?��êØ�3
�!W�K£�K�8�K§z�K3©§÷©24©.�¦r�YW3�K�þ¤
1. limx→0(cos x)1/ ln(1+x2) = ( )

2.­¡z = x2 + y2 �²¡2x + 4y − z = 0 ²1��²¡��§´( )

3.e?ê
∑∞

n=1 an ýéÂñ�?ê
∑∞

n=1 bn ^�Âñ§ K?ê
∑∞

k=100(ak − |bk|) �ñ
Ñ5´( )

4.®�f ′(ex) = xe−x§�f(1) = 0§Kf(x) = ( )
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5.�L����±x2 + y2 = 2 31���¥�Ü©§K­�È©
∫
L xdy − 2ydx ��

�( )

6.�?ê
∑∞

n=1 (x− 3)n/
√

n �Âñ��( ) (��Äà:�¹¤

7. �a > 0, f(x) = g(x) =

 a, 0 ≤ x ≤ 1

0, x /∈ [0, 1]
, DL«�²¡, K I =

∫ ∫
D f(x)g(y −

x)dxdy = ( )

8. �¼êy(x) dëê�§

 x = t3 + 3t + 1

y = t3 − 3t + 1
(½, K­� y = y(x)�þà�x ��

���( )

n!£15©¤� u = f(r) , r =
√

x2 + y2 + z2, eu ÷v�§
∂2u

∂x2
+

∂2u

∂y2
+

∂2u

∂z2
= 0,Á

¦Ñ¼êu .

o!£15©¤�¼êf(x) 3(−∞,∞) þëY�ð�u"§ F (t) =

∫ ∫ ∫
Ω(t) f(x2 + y2 + z2)dV∫ ∫

D(t) f(x2 + y2)dσ
§

G(t) =

∫ ∫
D(t) f(x2 + y2)dσ∫ t
−t f(x2)dx

, Ù¥ Ω(t) = {(x, y, z)|x2 + y2 + z2 ≤ t2}, D(t) = {(x, y)|x2 +

y2 ≤ t2}.
£1¤ ?ØF (t) 3«m(0, +∞) S�üN5;

£2¤ y²�t > 0 �§F (t) > (2/π)G(t).

Ê!£15©¤�k�§ xn + nx− 1 = 0§Ù¥ n ���ê§y²d�§�3���

¢� xn§¿y²� α > 1 �§?ê
∑∞

n=1 xα
n Âñ.

8!£15©¤�¼ê f(x) 34«m [a, b] þëY§3m«m (a, b) S��§�

f ′(x) > 0. e4� limx→a+ f(2x− a)/(x− a) �3. y²µ
(1) 3 (a, b) S f(x) > 0;

(2) 3 (a, b) S�3: ξ§¦ (b2 − a2)/
∫ b
a f(x)dx = (2ξ)/f(ξ);

(3) 3(a, b) S�3�(2)¥ ξ ØÓ�: η§¦ f ′(η)(b2−a2) = ((2ξ)/(ξ − a))
∫ b
a f(x)dx.

Ô!£15©¤� a > 0, x1 > 0, xn+1 = (1/4)(3xn + a/x3
n), (n = 1, 2, · · ·)§ y²ê�

xn �34�§ ¿¦4�limn→∞ xn.

l!£15©¤� I(y) =
∫ +∞
0 e−yx(sin x/x)dx, Ù¥ 0 ≤ y ≤ b.

(1)y²I(y) 3[0, b] þ��Âñ;

(2)¦I(y) 9I(0) ��.

Ê!£10©¤� {Sn(x)} ´¼ê�?ê
∑∞

k=1 uk(x) �c n �Ü©Ú¼ê�§ z�
Sn(x) 3[a, b] þëY§ �

∑∞
k=1 uk(x) 3 [a, b] þ��Âñu S(x). q {xn} ⊂ [a, b] �

xn −→ x0 (n −→∞). y² limn→∞ Sn(xn) = S(x0).

�!£10©¤�f(x), g(x) 3[a, b] þëY§�÷v
∫ x
a f(t)dt ≥

∫ x
a g(t)dt, x ∈ [a, b).

(1)¯µù�é?¿ x ∈ [a, b) ´ÄÑ¤á f(x) > g(x)º �y²½Þ~`²\�(
Ø.

(2)e�÷v
∫ b
a f(t)dt =

∫ b
a g(t)dt, Áyµ

∫ b
a xf(x)dx ≤

∫ b
a xg(x)dx.
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